Sez‘jlir; 24.8 Right Triangle Trigonometry

Objective: Students will use trigonometric functions to
model and solve real-life problems.

Calculator in degrees

Study Problems:
Worksheet




Example

A balloon on a 40ft string makes an angle
of 50° 5' 8" with the ground. How high is
the balloon if the hand of the person
holding the balloon is 6 feet above the
ground?
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The balloon is 36.680 ft above the ground
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Ed Puzzle

ow 1o change degrees to minutes and seconds?
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~What is the decimal degree of 67°12"43" ?




__|[Example

4 CB antenna is located on the top of a garage that
is 16 feet tall. From a point on level ground that is
100 feet from a point directly below the antenna,
the antenna subtends an angle of 12 degrees.
Approximate the length of the antenna.
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Length of tunnel: A tunnelfor a new highway is to be cut through a mountain that is
260 feet high. At adistance of 200 feet from the base of the mountain, the angle of
elevationis 36> . Froma distance of 150 feet on the other side, the angle of
elevationis 47" . Approximate the length of the tunnel to the nearest foot.
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Height of a skyscraper: When a certain skyscraper is viewed from the top of a
building 50 feet tall, the angle of elevation is 59°. When viewed from the street next
to the shorter building, the angle of elevation is 62°.

a) Approximate how far apart are the two structures?

b) Approximate the height of the skyscraper to the nearest tenth of a foot.
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